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HOW (NOT) TO LOSE A PROFIT IN 10 DAYS?

Promotions are very popular among marketers and businesspeople who
aim to boost sales, foster brand awareness, reward their customers, attract
attention to the new collection born to conquer the world and so on.

Promotions may take multiple forms among which are various discounts and price reductions, and,
as a result, not only your volumes and sales get affected but most importantly — your profits. That
is why not a single selling action will escape from the sight of the guardians of your company’s well-
being — the finance function.

If you are one of those business enthusiasts willing to offer the best products and services at
unbelievable prices to their dearest customers, then you might have at least once been opposed by
the finance professionals vetoing your project.

So, if you always want to hear “YES” from your finance team or from your inner voice (in case of
nurturing a start-up on your own), then this article is for you. Here you will learn how sensitive is
your profit to changes of sales volumes, variations of prices and costs, and how to develop
promotional activities allowing to multiply sales revenues while creating gains instead of losses.
Also, by this article we introduce our which help to measure the impact
of these changes and make necessary adjustments to secure the desired level of profit.

What Is Profit and How Can It Be Measured?

Before we begin, let us introduce the terminology used in this article. We will consider three
indicators of profit:

1) “Gross Profit or Gross Margin” (referred to as “Profit”) — is the amount of revenue remaining
after deducting the cost of goods sold (referred to as “COGS”), which is measured in values (e.g. in
euros or in any other currency).

Profit = Net Sales — COGS™
Where Net Sales = Sales at invoiced prices — Returns — Allowances — Discounts
(* COGS is the Cost of Goods Sold)

2) “Profit per unit”_— indicates how much profit the sale of one product generates and is also
measured in values. When multiplied by the number of units sold, it will result in the total amount
of profit for this product.

: , Profit : , ,
Profit per unit = —————— = Price per unit — Cost per unit
Quantity**
) ) Net Sales
Where ( Price per unit = ———
Quantity**
) COGS
Cost per unit = ————
Quantity**
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Profit = Profit per unit X Quantity™*
Net Sales = Price per unit X Quantity™
COGS = Cost per unit X Quantity™

(** Quantity is the Number of Units Sold)

3) “Profit in % of Net Sales” or “Profitability Rate” (referred to as “Profit in %”) — represents how
much profit each euro (or any other currency) of net sales brings and is usually measured in %. As
an example, 20% profit means that a business generates 20 cents of profit from each 1 euro of net
sales.

Profit Profit per unit

P itin% = ———x100% = %1009
rofitin % Net Sales % Price per unit &

Similar, Yet So Different

To discover what insights each of these indicators can provide, let’s have a look at 3 examples below
(Table 1).

Table 1

Example 1 Example 2 Example 3
A B C A B C A B C
100 40 20 100 100 100 40 50 57

Quantity, units

Price/unit, € 10,006 10,006  10,00€ 10,006  4,00€  2,00€ 25,00€ 8,006  3,50€
Cost/unit, € 9,006 7,506  5,00€ 9,006 3,006  1,00€ 22,50€ 6,006  1,75€
Profit/unit, € 1,006 2,506  5,00€ 1,006 1,006  1,00€ 2,50€ 2,006  1,75€
Net Sales, € 1000€  400€ 200€ 1000€  400€ 200€ 1000€  400€ 200€
COGS, € 900€ 300€ 100€ 900€ 300€ 100€ 900€ 300€ 100€
Profit, € 100€ 100€ 100€ 100€ 100€ 100€ 100€ 100€ 100€

Profit in % 10,0% 25,0% 50,0% 10,0% 25,0% 50,0% 10,0% 25,0% 50,0%

For simplicity let’s assume that in each example we have 3 products: A, B and C. In real business
case A, B and C may represent product lines, business units or even 3 different companies.

In all 3 examples the total profit equals 100€ for each product, however, the story behind this
amount is completely different. Another common feature is the profitability rate of products: in
each example product A is the least profitable with 10% profit, product C is the most profitable with
50% profit, and product B is in between them with 25% profit. This means that product A generates
10 cents of profit from 1 euro of net sales, B — 25 cents and C — 50 cents.

Example 1: All 3 products are sold at the same price (=10€ per unit) but costs and sales volumes
differ. Thus, to get 100€ of profit it is necessary to sell 100 units of product A bringing 1€ profit/unit,
or 40 units of product B with 2,5€ profit/unit, or 20 units of product C with 5€ profit/unit.

From this example it can be concluded that:

»  Given equal prices, the higher the cost per unit, the lower the profit per unit and the profit in
%.

»  Given equal prices, the higher the cost per unit, the greater should be the number of units sold
to get the same profit amount.
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Examples 2 and 3: Here we would like to pay your attention to the indicator “profit per unit” and
emphasize that it should not serve as a basis for determining the most profitable product, that is,
the product bringing the highest profit from each euro/dollar/... of sales. In Example 2 profit per
unit is the same for all 3 products (=1€), but still each product has different profitability — 10%, 25%
and 50%. In Example 3 the product with the lowest profitability rate (A) has the highest profit/unit
(=2,5€), while the product with highest % of profit brings only 1,75€ of profit/unit.

Only in Example 1 the highest profit per unit belongs to the product with the highest profit in %,
hence:

> The product with the higher profit per unit doesn’t necessarily generate the higher profit per
euro/dollar/... of sales.

Now it’s time to uncover what happens to your profits when volumes, prices or costs change, and
what is the impact of your profitability rate (profit in %) on how fast you can win or lose.

What Happens to Profit and Why Profit in % Matters?

Let’s focus on Example 2 from the previous chapter (Table 1) in which all three products A, B and C
currently bring an equal profit of 1€ per unit, or 100€ in total for 100 units sold of each product.

So, what will happen to profit if you decide to modify prices, give additional discounts, or if your
suppliers adjust the prices of materials used to produce these products, or the manufacturing
process and the associated costs change?

/11 Note that all the following explanations and conclusions are true when profit at the beginning is
positive.

What will make your profit grow?

First, we’ll consider factors driving positive changes on profit:

1) Increase of volume;
2) increase of price;
3) decrease of cost.

In Table 2 we demonstrate how profit from our example will change:

- if volume increases by 10% for each product;
- orif prices increase by 10% for each product;
- orif costs decrease by 10% for each product.
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Table 2
AS NOW A ] C
Quantity, units 100 100 100 e . .
Price/unit, € 10,00€  4,00€  2,00€ Positive Profit Drivers:
Cost/unit, € 9,00€ 3,00€ 1,00€
Profit/unit, € 1,00€ 1,00€ 1,00€ _> V°|ume Increases
Net Sales, € 1000€  400€ 200€ - Prices Go Up
COGS, € 900€ 300€ 100€
Prof‘t, 100€ 100€ 100€ 9 Costs Go Down
Profit in % 10,0% 25,0% 50,0%
Quantity, units 110 110 Quantity, units Quantity, units
Price/unit, € 10,00€ 4,00€ 2,00€ Price/unit, € 11,00€ 4,40€ 2,20€ Price/unit, € 10,00€ 4,00€ 2,00€
Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 8,10€ 2,70€ 0,90€
Profit/unit, € 1,00€ 1,00€ 1,00€ Profit/unit, € 2,00€ 1,40€ 1,20€ Profit/unit, € 1,90€ 1,30€ 1,10€
Net Sales, € 1100€ 440€ 220€ Net Sales, € 1100€ 440€ 220€ Net Sales, € 1000€ 400€ 200€
COGS, € 990€ 330€ 110€ COGS, € 900€ 300€ 100€ COGS, € 810€ 270€ 90€
Profit, € 110€ 110€ 110€ Profit, € 200€ 140€ 120€ Profit, € 190€ 130€ 110€
Profit in % 10,0%  25,0%  50,0% Profit in % 18,2%  31,8%  54,5% Profitin % 19,0% 32,5%  55,0%
Evolution in pts - - - Evolution in pts +8,2 pts +6,8pts +4,5 pts Evolution in pts +9,0 pts +7,5 pts +5,0 pts
Evolution in %: Evolution in %: Evolution in %:
Quantity +10% +10% +10% Quantity - - = Quantity - -
Price/unit - - - Price/unit +10% +10% +10% Price/unit - - -
Cost/unit - - - Cost/unit - - - Cost/unit -10% -10% -10%
Profit/unit - - - Profit/unit +100% +40% +20% Profit/unit +90% +30% +10%
Net sales +10% +10% +10% Net sales +10% +10% +10% Net sales - - -
COGS +10% +10% +10% COGS - - - COGS -10% -10% -10%
Profit +10% +10% +10% Profit +100% +40% +20% Profit +90% +30% +10%

If volume increases by 10%:

As you can see from Table 2, net sales, cost of goods sold and profit in values will grow by 10%
following volume increase, while profit in % and profit per unit will remain unchanged.

If prices increase by 10%:

For product A profit in values will double (+100%) and reach 200€ thanks to the price increase by
only 10%. Profit per unit will double as well (up to 2€), while profit in % will grow by 8,2 points
(=18,2% — 10,0%).

For product B the 10 percent increase of price will bring considerably less profit: +40€ or +40%
(against +100€ or +100% for product A), +0,4€ or +40% of profit per unit, and +6,8 points of profit
in %, while for product C the change is even slighter: only +20% for total profit and profit/unit and
+4,5 points for profit in %.

To summarize:
> The higher the profit in %, the slighter is the impact on profit from price increase.
If costs decrease by 10%:

It will also be true to say that if we decrease costs by the same percentage for each product, profit
in values will grow at a faster rate for products with lower profit in %. Thus, the product with the
lowest profit in % (A) has witnessed the greatest profit increase: total profit and profit/unit have
grown by 90%, while profit in % - by 9 points to reach 19%.

It should be noted that when comparing the impact on profit from price increase versus cost
decrease by the same percentage (10% in our example), price increase creates more profit in values
than cost decrease:
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- Product A: 200€ vs 190€, or +100% vs +90%;
- Product B: 140€ vs 130€ or +40% vs +30%;
- Product C: 120€ vs 110€, or +20%/+10%.

It’s not a coincidence that the difference of profit growth is 10% for each product (100% - 90% =
10%, etc.) — that is the percentage of the applied price increase / cost decrease.

On the contrary, cost decrease generates more profit in % than price increase by the same
percentage (A: +9 pts/+8,2 pts, B: +7,5 pts/+6,8 pts, C: +5 pts/+4,5 pts).

To summarize:

> The higher the profit in %, the slighter is the impact on profit from cost decrease;
»  Given equal percentages of price increase and cost decrease, price increase creates more profit
in values, while cost decrease generates more profit in %.

What will put your profit in danger?
Your profit can go down due to:

1) decrease of volume;
2) decrease of price;
3) increase of cost.

In Table 3 we demonstrate the loss of profit due to the opposite scenario to the one we have just
seen:

- if volume decreases by 10% for each product;
- orif prices decrease by 10% for each product;
- orif costs increase by 10% for each product.

Table 3
AS NOW A B 3
Quantity, units 100 100 100 P ” .
Price/unit, € 10,006 4,006 2,006 Negatlve Profit Drivers:
Cost/unit, € 9,006 3,006  1,00€ > Vol D
Profit/unit, € 1,006 1,006  1,00€ olume Decreases
Net Sales, € 1000€  400€ 200€ -> Prices Go Down
COGS, € 900€ 300€ 100€
Profit, € 100€ 100€ 100€ - Costs Go Up
Profit in % 10,0% 25,0%  50,0%

Quantity, units 90 920 90 Quantity, units 100 100 100 Quantity, units 100 100 100
Price/unit, € 10,00€ 4,00€ 2,00€ Price/unit, € 9,00€ 3,60€ 1,80€ Price/unit, € 10,00€ 4,00€ 2,00€
Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,90€ 3,30€ 1,10€
Profit/unit, € 1,00€ 1,00€ 1,00€ Profit/unit, € 0,00€ 0,60€ 0,80€ Profit/unit, € 0,10€ 0,70€ 0,90€
Net Sales, € 900€ 360€ 180€ Net Sales, € 900€ 360€ 180€ Net Sales, € 1000€ 400€ 200€
COGS, € 810€ 270€ 90€ COGS, € 900€ 300€ 100€ COGS, € 990€ 330€ 110€
Profit, € 90€ 90€ 90€ Profit, € 0€ 60€ 80€ Profit, € 10€ 70€ 90€
Profit in % 10,0%  25,0% 50,0% Profitin % 0,0% 16,7%  44,4% Profitin % 1,0% 17,5%  45,0%
Evolution in pts - - - Evolution in pts -10,0 pts -8,3pts -5,6 pts Evolution in pts -9,0 pts -7,5pts -5,0 pts
Evolution in %: Evolution in %: Evolution in %:

Quantity -10% -10% -10% Quantity - - - Quantity

Price/unit - - - Price/unit -10% -10% -10% Price/unit - - -
Cost/unit - - - Cost/unit - - - Cost/unit +10% +10% +10%
Profit/unit - - - Profit/unit -100% -40% -20% Profit/unit -90% -30% -10%
Net sales -10% -10% -10% Net sales -10% -10% -10% Net sales - - -
COGS -10% -10% -10% COGS - - - COGS +10% +10% +10%
Profit -10% -10% -10% Profit -100% -40% -20% Profit -90% -30% -10%
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If volume decreases by 10%:

Net sales, cost of goods sold and profit in values will drop by 10% following volume decrease, while
profit in % and profit per unit will remain unchanged.

If prices decrease by 10%:

Looking back to the previous example of price increase by 10% (Table 2), here we get the same
percentages of profit change in values for all 3 products but with the opposite sign.

Attention to product A with the initial 10% profit: the reduction of price by only 10% will lead to the
complete destruction of profit since it will become 0 (losing 100€, or -100%). The further price
decrease of this product will result in negative profit (= loss). Product B will lose 40€ (=100€ - 60€),
while product C will lose only 20€.

So, we can draw a parallel between the speed of profit change and the initial profit in %:
> The lower the profit in %, the worse is the impact on profit from price decrease.
If costs increase by 10%:

The increase of costs by 10% has a slightly lesser negative effect on profit than the decrease of prices
by 10%. Thus, product A will keep some profit, that is 10€, or 1%. Product B will lose 30€ of profit,
product C will lose 10€. The percentages of profit decline are equal to those from Table 2 with the
opposite sign.

To summarize:

> The lower the profit in %, the worse is the impact on profit from cost increase;
»  Given equal percentages of price decrease and cost increase, price decrease causes the greater
loss of profit, both in values and in % points.

Will profit change if both prices and costs increase (or decrease) by the same %?
Well, the answer is “Yes” and “No”.
In Table 4 we illustrate what will happen:

- if prices and costs increase by 10% for each product;
- orif prices and costs decrease by 10% for each product.
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Table 4
AS NOW
A B C
Quantity, units 100 100 100 Quantity, units 100 100 100 Quantity, units 100 100 100
Price/unit, € 10,00€ 4,00€ 2,00€ Price/unit, € 11,00€ 4,40€ 2,20€ Price/unit, € 9,00€ 3,60€ 1,80€
Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,90€ 3,30€ 1,10€ Cost/unit, € 8,10€ 2,70€ 0,90€
Profit/unit, € 1,00€ 1,00€ 1,00€ Profit/unit, € 1,10€ 1,10€ 1,10€ Profit/unit, € 0,90€ 0,90€ 0,90€
Net Sales, € 1000€ 400€ 200€ Net Sales, € 1100€ 440€ 220€ Net Sales, € 900€ 360€ 180€
COGS, € 900€ 300€ 100€ COGS, € 990€ 330€ 110€ COGS, € 810€ 270€ 90€
Profit, € 100€ 100€ 100€ Profit, € 110€ 110€ 110€ Profit, € 90€ 90€ 90€
Profit in % 10,0%  25,0%  50,0% Profit in % 10,0%  25,0%  50,0% Profit in % 10,0%  25,0%  50,0%
Evolution in pts - - - Evolution in pts - - -
Evolution in %: Evolution in %:
Price/unit +10% +10% +10% Price/unit -10% -10% -10%
Cost/unit +10% +10% +10% Cost/unit -10% -10% -10%
Profit/unit +10% +10% +10% Profit/unit -10% -10% -10%
Net sales +10% +10% +10% Net sales -10% -10% -10%
COGS +10% +10% +10% COGS -10% -10% -10%
Profit +10% +10% +10% Profit -10% -10% -10%

“Yes” — Profit and profit per unit will change.

Increasing prices by 10% following the growth of costs by 10% will 4 rise your profit and profit per
unit by 10%. In contrast, decreasing both prices and costs by 10% will 4, reduce your profit and
profit per unit by 10%. These statements are true for all 3 products.

“No” — Profit in % won't change.

The level of profitability (profit in %) won’t change if the increase (or decrease) of costs is
compensated by the same percentage of price increase (or decrease).

To summarize:

»  Given equal percentages of price and cost increase, profit in values will grow by this
percentage, while profit in % will remain constant;

»  Given equal percentages of price and cost decrease, profit in values will drop by this
percentage, while profit in % will remain constant.

In summing up the discussion of three indicators of profit, we should emphasize the great
importance of “Profit in % of Net Sales”. Unlike “Profit” and “Profit per unit” expressed in values,
“Profit in %” is a relative indicator representing the key metrics of a company’s efficiency.
Moreover, it determines the sensitivity of profit to variations of prices and costs.

“Profit per unit” can be useful in some cases, but it should not be considered as the measure
defining the most or least profitable product. As we have demonstrated in Example 3 from Table 1,
the product with the highest profit per unit may have the lowest profit in %, which means that even
a slight rise of cost puts at risk the very existence of profit.

Finally, “Profit” is the most essential indicator — the one that any for-profit organization seeks to
maximize, which, depending on a business strategy, can be achieved, for example, by multiplying
the number of units sold or by increasing the profitability of products.
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Key takeaways:

> The lower the profit in %, the more sensitive is profit to variations of prices and costs;
»  Given equal percentages of change, the evolution of prices has a stronger influence on the
amount of profit than the evolution of costs;
> The simultaneous growth of prices and costs by equal percentage will increase the amount
of profit and profit per unit (by this percentage), while the simultaneous drop of prices and
costs will decrease the amount of profit and profit per unit (by this percentage);
> The profit in % will remain constant provided that prices and costs change by equal

percentage.

11 Reminder: all the statements are true when profit at the beginning is positive.

PROFIT (IN % OF SALES)
SENSITIVITY TO PRICE VARIATIONS

PROFIT (IN % OF SALES)
SENSITIVITY TO COST VARIATIONS

Profit in % before change: 10% 30% 50% 70% w=90% Profit in % before change: 10% 30% 50% 70% wme90%
Price increase - +10% +20% +30% +40% +50% Cost decrease > -10% -20% -30% -40% -50%
+60 pts +60 pts
Prices go Costs go +45 pts
+40 pts +40 pts :
+35 pts
+30 pts 25 ot
+23 pts +25 pts
20 pt:
+20 pts +17 pts +elpts +15 pts
+10 pts =
+3 pts Do +5 pts
+0-pt: P
P -5 pts
-10 pts i
-15 pts
-20 pts -20 pts
-25 pts
30 pts
-35 pts
-40 pts -40 pts
= -45 pts
Prices go ¢ -50 pts Costs go
-60 pts -60 pts
70 pts
-80 pts -80 pts
90 pts
-100 pts -100 pts
Price decrease - -10% -20% -30% -40% -50% Cost increase ->

+10% +20% +30% +40% +50%

Now, having considered the correlation between variations of prices, costs and profits, let’s practice

with two simple business cases.
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Business Case 1: How to Double Your Profit?

Case description: The business sets an objective to double the amount of profit. How can this
growth be achieved?

Again, as a starting point we take Example 2 from Table 1 with 3 products A, B, and C, characterised
by equal quantities, amount of profit and profit per unit, but with different prices, costs and profit
in %.

Table 5
AS NOW A B C
Quantity, units 100 100 100
Price/unit, € 10,00€ 4,00€ 2,00€
Cost/unit, € 9,00€ 3,00€ 1,00€ 29
b T How to Double Your Profit?
Net Sales, € 1 000€ 400€ 200€
COGS, € 900€ 300€ 100€
Profi t, 100€ 100€ 100€
Profitin % 10,0% 25,0% 50,0%

Quantity, units

Quantity, units

Quantity, units

Price/unit, € 10,00€ 4,00€ 2,00€ Price/unit, € 11,00€ 5,00€ 3,00€ Price/unit, € 10,00€ 4,00€ 2,00€
Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 8,00€ 2,00¢ lo,00e
Profit/unit, € 1,00€ 1,00€ 1,00€ Profit/unit, € 2,00€ 2,00€ 2,00€ Profit/unit, € 2,00€ 2,00€ 2,00€
Net Sales, € 2 000€ 800€ 400€ Net Sales, € 1100€ 500€ 300€ Net Sales, € 1000€ 400€ 200€
COGS, € 1800€ 600€ 200€ COGS, € 900€ 300€ 100€ COGS, € 800€ 200€ loe
Profit, € 200€ 200€ 200€ Profit, € 200€ 200€ 200€ Profit, € 200€ 200€ 200€
Profitin % 10,0% 25,0% 50,0% Profitin % 18,2% 40,0% 66,7% Profitin % 20,0% 50,0%  100,0%
Evolution in pts - - - Evolution in pts +8,2 pts +15,0 pts +16,7 pts Evolutioninpts  +10,0 pts +25,0 pts +50,0 pts
Evolution in %: Evolution in %: Evolution in %:

Quantity +100%  +100%  +100% Quantity - - = Quantity

Price/unit - - - Price/unit +10% +25% +50% Price/unit - - -
Cost/unit Cost/unit - - - Cost/unit -11% -33% -100%
Profit/unit - - - Profit/unit +100%  +100%  +100% Profit/unit +100%  +100%  +100%
Net sales +100%  +100%  +100% Net sales +10% +25% +50% Net sales - - -
COGS +100%  +100%  +100% COGS - - - COGS -11% -33% -100%
Profit +100%  +100%  +100% Profit +100%  +100%  +100% Profit +100%  +100%  +100%

To double profit (from 100€ to 200€) for these products several actions can be taken (see Table 5):
1) Volume: double the number of quantities sold

In Table 5 we see that in this case net sales, COGS and profit will double (grow by 100%) for all 3
products. Since neither prices nor costs per unit change, profit per unit and profit in % will remain
constant.

2) Prices: apply necessary price increase

As these 3 products have different profitability (profit in %), the percentage of price increase
necessary to grow profit by 100% varies significantly. For product A it’s enough to increase price by
10% to double profit, for product B — by 25% and for product C — by 50%.

Note: Net sales will increase by the same percentage as price. Profit per unit will double.

Interesting tip: to increase the amount of profit by 100%, the price should go up by the percentage
equal to profit in % before change (10%, 25%, 50% for A, B, C correspondingly). Or, broadly speaking:

© FPANDA CLUB 2022 10



HOW (NOT) TO LOSE A PROFIT IN 10 DAYS?

> To get an X-fold increase of profit (X is a coefficient greater than 1, e.g. X=1,2 means the
increase of profit by 20%), it is necessary to increase prices by (X-1)*profit_in_%*100%.

3) Costs: search for opportunities to reduce costs

To double profit, costs should decrease by 11%, 33% and 100% for products A, B and C
correspondingly — that is something not easy to do.

Note: It’s impossible to double your profit by only reducing costs if profit in % is equal or higher than
50%, because it means that it would cost you nothing or a negative amount to produce and sell this
product.

4) All the above: consider any combination of options above that best suits your current
situation
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Business Case 2: How to Gain Profit by Giving Discounts?

Case description: The business plans to implement a 1-week sales promotion in the form of a 10%
discount aiming to enhance sales. How much units should be sold to grow the amount of profit
by 20%?

We continue to use Example 2 from Table 1. So, the company currently sales 100 units per week of
product A, B and C earning 100€ profit for each of them (see Table 6).

Table 6

AS NOW A B C
Quantity, units 100 100 100
Price/unit, € 10,00€ 4,00€ 2,00€ = 2
Cost/unit, € 9,006 3,006  1,00€ How to Gain P rOfIt
Profit/unit, € 1,00€ 1,00€ 1,00€
Net Sales, € 1000€  400€  200€ by GIVIﬂg DiSCOUﬂtS?
COGS, € 900€ 300€ 100€
Profit, € 100€ 100€ 100€
Profit in % 10,0%  25,0%  50,0%

B
Quantity, units 100 100 100 Quantity, units no matter 125 Quantity, units no matter
Price/unit, € 9,00€ 3,60€ 1,80€ Price/unit, € 9,00€ 3,60€ 1,80€ Price/unit, € 9,00€ 3,60€ 1,80€
Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,00€ 3,00€ 1,00€ Cost/unit, € 9,00€ 3,00€ 1,00€
Profit/unit, € 0,00€ 0,60€ 0,80€ Profit/unit, € 0,00€ 0,60€ 0,80€ Profit/unit, € 0,00€ 0,60€ 0,80€
Net Sales, € 900€ 360€ 180€ Net Sales, € = 600€ 225€ Net Sales, € == 720€ 270€
COGS, € 900€ 300€ 100€ COGS, € ¥ 500€ 125€ COGS, € = 600€ 150€
Profit, € 0€ 60€ 80€ Profit, € 0€ 100€ 100€ Profit, € 0€ 120€ 120€
Profitin % 0,0% 16,7% 44,4% Profit in % 0,0% 16,7% 44,4% Profit in % 0,0% 16,7% 44,4%
Evolution in pts -10,0 pts -8,3 pts -5,6 pts Evolution in pts -10,0 pts -8,3pts -5,6 pts Evolution in pts -10,0 pts -8,3pts -5,6 pts
Evolut:on in %: Evolution in %: Evolution in %:

Quantity +67% __+25% Quantity +100% __+50%
Price/unit -10% -10% -10% Price/unit -10% -10% -10% Price/unit -10% -10% -10%
Cost/unit - - - Cost/unit - - - Cost/unit - - -
Profit/unit -100% -40% -20% Profit/unit -100% -40% -20% Profit/unit -100% -40% -20%
Net sales -10% -10% -10% Net sales - +50% +13% Net sales - +80% +35%
COGS - - - COGS - +67% +25% COGS - +100% +50%
Profit -100% -40% -20% Profit -100% 0% 0% Profit -100% +20% +20%

Giving a 10% discount means reducing prices by 10%.

Scenario 1 (Loss of profit): If no additional volume is sold, then the business will lose 10% of net
sales and different percentages of profit amount depending on the product’s profitability (as we
have already demonstrated in Table 3 of the previous chapter). The profitability (profit in % of sales)
will decrease as well.

Scenario 2 (Equal profit): In this scenario we show how many units should be sold to secure the
same amount of profit as in the ordinary week without sales promotion. For product A the profit
will become zero after applying a 10% discount, and it will remain zero no matter how many units
are sold. As for the rest of the products, to get the same 100€ profit it is necessary to sell 67 more
units of product B (or +67%) and 25 more units of product C (or +25%).

Scenario 3 (Profit +20%): Finally, our response to the case’s task of increasing profit by 20% while
providing a 10% discount is following:

Product A: it’s not possible, because the discount provided should be less than the profitability of
the product (profit in % of sales) to gain profit.

Product B: The number of units sold during promotion should double (from 100 to 200 units).

© FPANDA CLUB 2022 12



HOW (NOT) TO LOSE A PROFIT IN 10 DAYS?

Product C: The number of units sold during promotion should increase by 50% (from 100 to 150
units).

Note that each product has lost several points of profitability due to the promotion, which was
compensated by higher volume to achieve the total growth of profit amount.

We hope that this article has shed light on profit sensitivity and will help you in searching for profit
maximization, planning sales promotions or negotiating selling conditions with your clients. To
quickly evaluate the impact of variations of prices and costs on your profit we have prepared
several tables which can be found in the appendix.

We have also developed an online tool enabling you to customize each of the parameters to
measure how your profit and profitability change. You can access our free tool through
or from our menu “Tools”.
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Impact of Price Increase on "Profit in % of Sales"

o X . . How to read: Find the current profit in % of sales in the left column and the % of price increase
New profit (in % of sales) after increasing prices: in the top row. In the intersection you'll get the new profit in % after price increase.

Profit (in % of sales) | Price increase in %
before change 1% 2% 10% 15% 20% 25% 30% 40% 50%
5% 5,9% 6,9% 7,8% 8,7% 9,5% 13,6% 17,4% 20,8% 24,0% 26,9% 32,1% 36,7%
10% 10,9% 11,8% 12,6% 13,5% 14,3% 18,2% 21,7% 25,0% 28,0% 30,8% 35,7% 40,0%
15% 15,8% 16,7% 17,5% 18,3% 19,0% 22,7% 26,1% 29,2% 32,0% 34,6% 39,3% 43,3%
20% 20,8% 21,6% 22,3% 23,1% 23,8% 27,3% 30,4% 33,3% 36,0% 38,5% 42,9% 46,7%
25% 25,7% 26,5% 27,2% 27,9% 28,6% 31,8% 34,8% 37,5% 40,0% 42,3% 46,4% 50,0%
30% 30,7% 31,4% 32,0% 32,7% 33,3% 36,4% 39,1% 41,7% 44,0% 46,2% 50,0% 53,3%
35% 35,6% 36,3% 36,9% 37,5% 38,1% 40,9% 43,5% 45,8% 48,0% 50,0% 53,6% 56,7%
40% 40,6% 41,2% 41,7% 42,3% 42,9% 45,5% 47,8% 50,0% 52,0% 53,8% 57,1% 60,0%
45% 45,5% 46,1% 46,6% 47,1% 47,6% 50,0% 52,2% 54,2% 56,0% 57,7% 60,7% 63,3%
50% 50,5% 51,0% 51,5% 51,9% 52,4% 54,5% 56,5% 58,3% 60,0% 61,5% 64,3% 66,7%
60% 60,4% 60,8% 61,2% 61,5% 61,9% 63,6% 65,2% 66,7% 68,0% 69,2% 71,4% 73,3%
70% 70,3% 70,6% 70,9% 71,2% 71,4% 72,7% 73,9% 75,0% 76,0% 76,9% 78,6% 80,0%
80% 80,2% 80,4% 80,6% 80,8% 81,0% 81,8% 82,6% 83,3% 84,0% 84,6% 85,7% 86,7%
90% 90,1% 90,2% 90,3% 90,4% 90,5% 90,9% 91,3% 91,7% 92,0% 92,3% 92,9% 93,3%

How to read: Find the current profit in % of sales in the left column and the % of price increase

. — . s,
Evolution of profit in % of sales (in percentage points): in the top row. In the intersection you'll get the increase of profit in % in percentage points.

Profit (in % of sales) | Price increase in %
before change 1% 2% 10% 15% 20% 25% 50%
5% '
10%
15%
20%
25%
30%
35%
40%
45%
50%
60%
70%
80%
90%
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HOW (NOT) TO LOSE A PROFIT IN 10 DAYS?

Price Increase Needed to Grow the Amount of Profit by X%

Price increase in %

Profit (in % of sales) | X: % of profit growth

before change 5% 10%

5% 0,3% 0,5% 0,8% 1,0% 1,3% 1,5% 2,0% 2,5% 3,0% 4,0% 5,0%
10% 0,5% 1,0% 1,5% 2,0% 2,5% 3,0% 4,0% 5,0% 6,0% 8,0% 10,0% 20,0%
15% 0,8% 1,5% 2,3% 3,0% 3,8% 4,5% 6,0% 7,5% 9,0% 12,0% 15,0% 30%
20% 1,0% 2,0% 3,0% 4,0% 5,0% 6,0% 8,0% 10,0% 12,0% 16,0% 20,0% 40%
25% 1,3% 2,5% 3,8% 5,0% 6,3% 7,5% 10,0% 12,5% 15,0% 20,0% 25%
30% 1,5% 3,0% 4,5% 6,0% 7,5% 9,0% 12,0% 15,0% 18,0% 24% 30%
35% 1,8% 3,5% 5,3% 7,0% 8,8% 10,5% 14,0% 17,5% 21% 28% 35%
40% 2,0% 4,0% 6,0% 8,0% 10,0% 12,0% 16,0% 20,0% 24% 32% 40%
45% 2,3% 4,5% 6,8% 9,0% 11,3% 13,5% 18,0% 23% 27% 36% 45%
50% 2,5% 5,0% 7,5% 10,0% 12,5% 15,0% 20,0% 25% 30% 40% 50%
60% 3,0% 6,0% 9,0% 12,0% 15,0% 18,0% 24% 30% 36% 48% 60%
70% 3,5% 7,0% 10,5% 14,0% 17,5% 21% 28% 35% 42% 56% 70%
80% 4,0% 8,0% 12,0% 16,0% 20,0% 24% 32% 40% 48% 64% 80%
90% 4,5% 9,0% 13,5% 18,0% 23% 27% 36% 45% 54% 72% 90%

How to read: Find the current profit in % of sales (profitability) in the left column and the desired % of profit growth (in value) in the top row.
In the intersection you'll get the % of price increase necessary to grow the amount of profit by this percentage.

For example: if your current profit is 30%, then to grow the amount of profit by 50% (e.g. from 100k€ to 150k€) it is necessary to increase the
price by 15%.
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Impact of Price Discounts on "Profit in % of Sales"

New profit (in % of sales) after giving a discount

How to read: Find the current profit in % of sales in the left column and the % of discount
in the top row. In the intersection you'll get the new profit in % after giving this discount.

Profit (in % of sales) | Price discount (price reduction in %)
before discount -1% -2% -3% -4% -5% -10% -15% -20% -25% -30% -40% -50%

5% | 31% | 21% | 1,0% | 00% |  -56% -11,8% | -18,8% , -26,7% -35,7% 583% [l -90,0%
10% | 91% |  82% |  7,2% i 62% | 53% | 00% | 5% | -12,5% 200% [ -286% | -so,o%‘ -80,0%
15% | 141% | 13,3% l 12,4% 11,5% | 105% |  56% I 00% |  -63% | -133% | -21,4% 1 -41,7% -70,0%
20% | 19,2% % 18,4% 175% | 167% | 158% I 11,1% 59% | 00% | -67% | -14,3% 333% | -60,0%
25% | 24,2% 235% | 227% | 21,9% ! 21,1% 167% | 118% |  63% l 00% | 7% | -250% | -50,0%
30% | 293% | 286% | 27,8% l 27,1% 263% | 222% | 17,6% i 12,5% 67% |  00% | -167% { -40,0%
35% | 383% Il 337% l 33,0% 323% | 316% | 27,8% = 23,5% 188% | 133% | 71% l -8,3% -30,0%
40% | 39,4% l 38,8% 381% § 375% § 368% = 33,3% 29,4% | 250% | 20,0% I 14,3% 00% | -20,0%
45% | 44,4% 39% 0 433% | 427% = 42,1% 389% I 353% | 313% I 26,7% 214% | 83% | -10,0%
50% | 295% 8 49,0% I 485% = 47,9% 47,4% 8 as0% 0 41,2% = 37,5% 333% I 286% | 167% h 0,0%
60% 59,6% I 59,2% = 58,8% s583% I 57,9% il 556% = 52,9% 500% | 467% I 42,9% I 33,3% 20,0%
70% | 69,7% = 69,4% 69,1% M 683% B 684% = 66,7% 647% WM 625% ¥ 60,0% = 57,1% 50,0% | 40,0%
80% | 79,8% 796% 0 79,4% & 79,2% = 78,9% 778% B 765% 0 750% = 73,3% 714% 0 667% 8 60,0%
90% | 89,9% M 898% W 897% W 896% M 895% [ 889% M 882% M 875% M 867% W 857% M 833% [ 80,0%

How to read: Find the current profit in % of sales in the left column and the % of discount

Evolution of profit in % of sales (in percentage points) in the top row. In the intersection you'll get the decrease of profit in % in percentage points.

Profit (in % of sales) | Price discount (price reduction in %)
before discount -1% -2% -3% -10% -15% -20% -25% -30% -40%
5%
10%
15%
20%
25%
30%
35%
40%
45%
50%
60%
70%
80%
90%
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Compensation of Price Discounts by Volume Increase

Volume increase in % - necessary to maintain the same amount of profit after giving a discount

Profit (in % of sales) | Price discount (price reduction in %)
before change -1% -2% -3% -4% -40%
5% 25% 67% 150% 400% - = = - - - =
10% 11,1% 25% 43% 67% 100% - - - - - -
15% 7,1% 15,4% 25% 36% 50% 200% = = = = e -
20% 5,3% 11,1% 17,6% 25% 33% 100% 300% - - - - -
25% 4,2% 8,7% 13,6% 19,0% 25% 67% 150% 400% = - - -
30% 3,4% 7,1% 11,1% 15,4% 20,0% 50% 100% 200% 500% - - B
35% 2,9% 6,1% 9,4% 12,9% 16,7% 40% 75% 133% 250%
40% 2,6% 5,3% 8,1% 11,1% 14,3% 33% 60% 100% 167% 300% - -
45% 2,3% 4,7% 7,1% 9,8% 12,5% 29% 50% 80% 125% 200% | 800% @ -
50% 2,0% 4,2% 6,4% 8,7% 11,1% 25% 43% 67% 100% 150% 400% -
60% 1,7% 3,4% 5,3% 7,1% 9,1% 20,0% 33% 50% 71% 100% 200% 500%
70% 1,4% 2,9% 4,5% 6,1% 7,7% 16,7% 27% 40% 56% 75% 133% 250%
80% 1,3% 2,6% 3,9% 5,3% 6,7% 14,3% 23% 33% 45% 60% 100% 167%
90% 1,1% 2,3% 3,4% 4,7% 5,9% 12,5% 20,0% 29% 38% 50% 80% 125%
How to read: Find the current profit in % of sales in the left column and the % of discount in the top row.
In the intersection you'll get the % of volume increase necessary to maintain the same amount of profit.

-50%
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Impact of Cost Variations on "Profit in % of Sales"

New profit (in % of sales) after cost change

5%
10%
15%
20%
25%
30%
35%
40%
45%
50%
60%
70%
80%
90%

20%
-14,0%
-8,0%
-2,0%
4,0%
10,0%
16,0%
22,0%
28,0%
34,0%
40,0%
52,0%
64,0%
76,0%
88,0%

Iy il (1 /e 1 -0) |l Cost increase in %
before change

15%

-9,3%
-3,5%
2,3%

8,0%

13,8%
19,5%
25,3%
31,0%
36,8%
42,5%
54,0%
65,5%
77,0%
88,5%

10%

-4,5%
1,0%

6,5%

12,0%
17,5%
23,0%
28,5%
34,0%
39,5%
45,0%
56,0%
67,0%
78,0%
89,0%

5%
0,3%
5,5%
10,8%
16,0%
21,3%
26,5%
31,8%
37,0%
42,3%
47,5%
58,0%
68,5%
79,0%
89,5%

Evolution of profit in % of sales (in percentage points)

5%
10%
15%
20%
25%
30%
35%

40%
45%
50%
60%
70%
80%
90%
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LG (L BZN T 1S B Cost increase in %
before change

15%
-14 pts
-14 pts
-13 pts
-12 pts
-11 pts
-11 pts
-9,8 pts
-9,0 pts
-8,3 pts
-7,5 pts
-6,0 pts
-4,5 pts
-3,0 pts
-1,5 pts

10%
-9,5 pts
-9,0 pts
-8,5 pts
-8,0 pts
-7,5 pts
-7,0 pts
-6,5 pts
-6,0 pts
-5,5 pts
-5,0 pts
-4,0 pts
-3,0 pts
-2,0 pts
-1,0 pts

5%
-4,8 pts
-4,5 pts
-4,3 pts
-4,0 pts
-3,8 pts
-3,5 pts
-3,3 pts
-3,0 pts
-2,8 pts
-2,5 pts
-2,0 pts
-1,5 pts
-1,0 pts
-0,5 pts

4%
1,2%
6,4%
11,6%
16,8%
22,0%
27,2%
32,4%
37,6%
42,8%
48,0%
58,4%
68,8%
79,2%
89,6%

4%
-3,8 pts
-3,6 pts
-3,4 pts
-3,2 pts
-3,0 pts
-2,8 pts
-2,6 pts
-2,4 pts
-2,2 pts
-2,0 pts
-1,6 pts
-1,2 pts
-0,8 pts
-0,4 pts

3%
2,2%
7,3%
12,5%
17,6%
22,8%
27,9%
33,1%
38,2%
43,4%
48,5%
58,8%
69,1%
79,4%
89,7%

3%
-2,9 pts
-2,7 pts
-2,6 pts
-2,4 pts
-2,3 pts
-2,1 pts
-2,0 pts
-1,8 pts
-1,7 pts
-1,5 pts
-1,2 pts
-0,9 pts
-0,6 pts
-0,3 pts

2%
3,1%
8,2%
13,3%
18,4%
23,5%
28,6%
33,7%
38,8%
43,9%
49,0%
59,2%
69,4%
79,6%
89,8%

2%
-1,9 pts
-1,8 pts
-1,7 pts
-1,6 pts
-1,5 pts
-1,4 pts
-1,3 pts
-1,2 pts
-1,1 pts
-1,0 pts
-0,8 pts
-0,6 pts
-0,4 pts
-0,2 pts

How to read: Find the current profit in % of sales in the left column and the % of cost change
in the top row. In the intersection you'll get the new profit in % after cost change.

1%
4,1%
9,1%
14,2%
19,2%
24,3%
29,3%
34,4%
39,4%
44,5%
49,5%
59,6%
69,7%
79,8%
89,9%

6,0%
10,9%
15,9%
20,8%
25,8%
30,7%
35,7%
40,6%
45,6%
50,5%
60,4%
70,3%
80,2%
90,1%

6,9%
11,8%
16,7%
21,6%
26,5%
31,4%
36,3%
41,2%
46,1%
51,0%
60,8%
70,6%
80,4%
90,2%

7,9%
12,7%
17,6%
22,4%
27,3%
32,1%
37,0%
41,8%
46,7%
51,5%
61,2%
70,9%
80,6%
90,3%

8,8%
13,6%
18,4%
23,2%
28,0%
32,8%
37,6%
42,4%
47,2%
52,0%
61,6%
71,2%
80,8%
90,4%

9,8%

14,5%
19,3%
24,0%
28,8%
33,5%
38,3%
43,0%
47,8%
52,5%
62,0%
71,5%
81,0%
90,5%

14,5%
19,0%
23,5%
28,0%
32,5%
37,0%
41,5%
46,0%
50,5%
55,0%
64,0%
73,0%
82,0%
91,0%

19,3%
23,5%
27,8%
32,0%
36,3%
40,5%
44,8%
49,0%
53,3%
57,5%
66,0%
74,5%
83,0%
91,5%

24,0%
28,0%
32,0%
36,0%
40,0%
44,0%
48,0%
52,0%
56,0%
60,0%
68,0%
76,0%
84,0%
92,0%

How to read: Find the current profit in % of sales in the left column and the % of cost change
in the top row. In the intersection you'll get the evolution of profit in % in percentage points.

1%
-1,0 pts
-0,9 pts
-0,9 pts
-0,8 pts
-0,8 pts
-0,7 pts
-0,7 pts
-0,6 pts
-0,6 pts
-0,5 pts
-0,4 pts
-0,3 pts
-0,2 pts
-0,1 pts

-1%
+1,0 pts
+0,9 pts
+0,9 pts
+0,8 pts
+0,8 pts
+0,7 pts
+0,7 pts
+0,6 pts
+0,6 pts
+0,5 pts
+0,4 pts
+0,3 pts
+0,2 pts
+0,1 pts

Cost decrease in %

-2%
+1,9 pts
+1,8 pts
+1,7 pts
+1,6 pts
+1,5 pts
+1,4 pts
+1,3 pts
+1,2 pts
+1,1 pts
+1,0 pts
+0,8 pts
+0,6 pts
+0,4 pts
+0,2 pts

-3%
+2,9 pts
+2,7 pts
+2,6 pts
+2,4 pts
+2,3 pts
+2,1 pts
+2,0 pts
+1,8 pts
+1,7 pts
+1,5 pts
+1,2 pts
+0,9 pts
+0,6 pts
+0,3 pts

-4%
+3,8 pts
+3,6 pts
+3,4 pts
+3,2 pts
+3,0 pts
+2,8 pts
+2,6 pts
+2,4 pts
+2,2 pts
+2,0 pts
+1,6 pts
+1,2 pts
+0,8 pts
+0,4 pts

-5%
+4,8 pts
+4,5 pts
+4,3 pts
+4,0 pts
+3,8 pts
+3,5 pts
+3,3 pts
+3,0 pts
+2,8 pts
+2,5 pts
+2,0 pts
+1,5 pts
+1,0 pts
+0,5 pts

-10%
+9,5 pts
+9,0 pts
+8,5 pts
+8,0 pts
+7,5 pts
+7,0 pts
+6,5 pts
+6,0 pts
+5,5 pts
+5,0 pts
+4,0 pts
+3,0 pts
+2,0 pts
+1,0 pts

-15%

+14 pts
+13 pts
+12 pts
+11 pts
+11 pts
+9,8 pts
49,0 pts
+8,3 pts
+7,5 pts
+6,0 pts
+4,5 pts
+3,0 pts
+1,5 pts

-20%
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